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7= (,S’ﬁ)’ A= (4, 17)
2

(1) Az, it+ 14), B(t, itZ)o AB:it+14*it2
3 3 3 3
2 Lir1a—Le—12 am<y, t=—2, 37T, (—6<t<7)&W=T, t=—2, 3
3 3 _—
1 1 1 1 17
A(t, —12), B(t, —t—8). AB= —t2— (—t—8) =——,
4 2 4 2 4
ZOH AL T 5L, t2+2t—15=0, fi#g&, t=—5, 3, (—5, —22) (3, _9,

(1) A(3,18), B(—3,18), D(3, —3) &b, AB=6, AD=21

1 1 1 7
(2) A(t, 2t2), D(t, —12) XV, AD=2¢2— (——¢2) =22 +—t2=—42
3 3 3 3

(3) 7= (&, 2
7 49

PO A t S AL, HP, QDIEBIEZNEN, P(t, S—t+6), (t, 4—12) &/25, PQOESMBEND,
2 2

it+6*it2:3 — 2—t—6=0— (t++2) (+—3)=0 — t=—2, 3,

A(=2, 5), (3,12
2 2 2

1
HA, B, D OFE#ELY q THTE, Ala, a?), B(—a, a?), D(a, —a?2) 725,
2

1 4 AL
AD=AB XY, a2—(——a?) =2a > 3a2—4a=0 — a(3a—4)=0 — a=0, —, >y
2 3
1
AD ffEf% t 255, AD=AB £ 2t2——12=2¢ — t=0, = >0 k0, t=—, A (A 32
2 3 3 37 9




